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CHARLIE BROWN’S PUMPKIN EXPERIMENT
Charlie Brown wanted to grow the largest pumpkin in his neighborhood for the big Halloween party.  He wondered if fertilizer would help grow a larger pumpkin.  Charlie bought 3 different brands of fertilizer to try in his pumpkin patch and designed the following experiment:
 He divided his pumpkin patch into 4 equal sections and planted one pumpkin seed in each section.  The first section had no fertilizer.  He used five grams of fertilizer X in section #2, five grams of fertilizer Y in section #3, and five grams of fertilizer Z in section #4.  He watered each seed with 1 Liter of water daily.  The results after 3 weeks are shown below:
	Section #1
	Section #2
	Section #3
	Section #4

	No fertilizer
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	Fertilizer X
	Fertilizer Y
	fertilizer Z


1)
What is the control in the experiment?  ___________________________
2)
What is the independent variable? _______________________________
3)
What is the dependent variable? ________________________________
4)
Name one constant in the experiment. ____________________________
5)
Based on his results, what conclusion can Charlie Brown make? 

_________________________________________________________

_________________________________________________________

